FR27EEEN BRIFHSEE
By T—H T

fERE1
BESHNRATEZONIEGROXEAE, RUYE
HROERBEIRT,, TyloxtT 2E&4ERD L.

e e ER RS RE f(X,Y) = 0.5+ 0.5[cos(2m X 0.7 X X)
+cos(2m x 0.5 X X)]cos(2mr X 1.5 X Y)
2015.12. 9
782
(Gz3= i) ROFESN—EESTEEITH D, THREESTIRE
o EBEEH /MEOHERTTE THIMNETRE.
BT A 0
BE (T (B F- MR (AR FIHLURN) T B 01
®t. Cc 011
4

RIRE3

NIIUFESIZEALTUTORMIZER £.

D ROBERBEIZHTENIIVHFEERDE.
EEEURIL) s; s, s3 s, Sg

4iCHEE 05 02 015 0.1 0.05

@ OTRDOFNTIVFSICHTHFEHFSRER
H&.

@ HZBEDIVIAE—FRHT, FHHERELBRE L

—A/2 ~ A2IC—8 DT HEFILIAZIZEALTUT®
BICEZ &

D eDZFFHY (=58 02)EATRE.

@ IMIEUTOE YN ZEDELIEE, AZDTRE.

Q@ EXRESNIETERDLIIZKT.

x(n) = acos(2mwnT)

BB BRI KT IHEENZDs? /0i%a, bT
Rt

@ a=1M&ZE, SNR = 10log;o(02/02) > 50 [dB]&7R
51z DbDER/IME (BH)ERDH K.

R85
HAMICEALTUTOMICEZL.
O EROBESANRDELIICEZSNTINVSLE, BEH
DECrr(w),u=0,1,2ZRD L.
f(x)=1[1,2,3,1,0,1,4,2,0,1]
8L, F(11) =2,f(12) = 1&F 5.
N

1
Crr(w) = NZ(f(x) —up)(f(x +w) — ps), N =10
x=1
@ HOTOVIEROBESHNRATEILNSLEE, 1
BEHDMC RO E.
g(x)=10133,1,1,2,3,1,1,2]
N

1
Crg = NZ(f(x) = 1)(900) — ), N =10
x=1

@ gDBETHEDHC,,(W), u=0ERDL.
@ ROMEBEFREBpERD &

Cfg (0

VCrr(0)Cyy(0)

pDIEMSf(x)Eg(x) DIBREMEIZ DNV TR K.
(2t 45l) 1E (8) DAERE AV ALY~ FEREASEELY




